M%‘Hﬁ | €73 | H@w&JoI‘L 2.2 I QDL—JQJ‘S
.20 s={(n,g,c,): R,Bjc,eil,..,,(,}lg 2208
Rz # on ~ed E=" SLooLer rin s u-‘H.. a f’o;».* ‘i>1f 7”
B = on Llue

S

G-= 7€
E = i (K,BGY: R*BrG= 5}
=i

C5L3), (L2, 2), 01,3, ),
il L S A (MJ)}

202,58 Wa A,QAOLQ. Aan Du.*c_pmt L-a
Ca,bie), ohere Q,L,a‘.ic ace
FoS-F‘Hv-e. }nlae&ugj andt s clice b,

E =" Second Su—:q,l/ejl CLr'ID is 37
=$(1,3,4), (1,35) (13,8),
(22540 (2,3,5),02,3,6)

220 Noke: N is He s of
5“-\"1.‘3{4{' L\usLej in L;—ua._r'+5,

Aty e als T[0T Ak A
N Suaallest” Margest”

2 »paSS!“f. F‘?“"Ll'f
53‘*""‘6"*‘ J{\f‘a.ia(a""
ot 1.4

e . Laae liga ﬂlﬁmc.,‘L o N

9’3_(’1‘ with Aocc 2 oc 3 oc...08 lO.
7i1~«5, H«ELF‘E. P e 4 ]O ruu"“CameJ_S

§
I

2, 2. M|

—

S: } (K,Y); nyéiAJB]CJsDJE}.k)
where (XY) rcfcre;\‘@-.“'s e E
Outcoma. ™ Woinay selects X a.d Y

Nole Huat (X,y) is He Same
OH“‘COWLQ, as (Y,X):

We idenhs {, e 8“”5

pardies as A a.d B,

A= it L«qc\Les at [2ast
Ove lcopreet ':«ie.x‘}.'(.'cyt'f"'on &

= 1(48)3¢ = S\jun}

Nawe Susfec!-; as A,B<D E.

LeF A ="Rolls Foon it col

B Rellsir o ot
N:=AnBc = (4uB)°
="Rolls nelther 7 noc T on it
ENAY  Calin AL,

(4, Mo, My Ay )) L My M) A

2,04 ey ol (_JL.’-LP. (’.L,’FS in
Ctonad, tedd | Y =r& Of L/a_(,.L cL-'IOS
in U\.«n‘ 1

Note : Thic means tere axe [O-X
while eliys: Yo COpaa o auf R —i
black chips i Wen 2,

S'—" ij s X, aketposiiy infe:
“ )Q,,J_ Iﬁxf;s/(f\gzu

Note! Uen 1 saust contasa af leark
v/t c_L:’p ond at wmost 19, because
Wr\ 2 MH‘J‘ 4["@' m‘ltﬂ';” q"L /E.a.."?’*i.

2_‘.2‘ ,5 L{{' ‘£1 Sistﬂ}fy ,I h!-ﬂru"{ “-s’l‘;!’
b JnlaL*‘) Faiis A rhin e Tt watil
MJ{M:JLH £y 5 7 Gider bt u‘fuﬂn.‘:[dg
ete. % Hat) foc all keN :

T E;_Lm: minutes wundi] H:‘Jul‘ah\“-

At "{'l ) We {Cuoye (J«lp L P z'{' 1.(1 we
Temoue c,('t'-f 2, ede.  Thus, ot ék,
wt remave clhip k|, forall ke

T)AQI*Q‘CO*E) ives “e CL} ;7£ e
at %ue P§5n+ lﬁ\‘jf‘&n;fé&,
&m;efw+l’7) affar m:&}ah‘*

the wew wif? be emphy)

ty

0,3




l Howwor!k 280 l

[ava)ace]®=Cos 1]U(3:“°ﬂ

2.2.22 Al leHers dold be cousidecel
Bstucty So tiwwmber lefters of He Stme
[<54J,:

T Ei % 5% E-'IL,L-li‘« TaI. o

We do Hus Le,c.qu.se_ each /c#&r 15 Ou
its owm chip asd He quesdion

st whiely CHIPS make Uwp He
givea eveats (ot whicl letarc).

@ FNRANV = iEr, f:I
B FaRove ={53,5,7T, 1,3
© FnRréav = %f‘\; e

Noke:
ABDsFGH ZT K L;yl(/opa,qg TUV WY Z
15F La|f 2 ko [f

MA-H,, 183 Eaue__r;
2.2.20 A= ix: osxsfk) L’=§x:osxss}j 1.2.2%
c= <ﬁ)(: ~l&x .‘.L} A:fHHTT, THHUT, TTHH, HTHT HITH, THTHX.
& D W SRR R =T 1L % HTHT THTH‘}
() ,'jAcngnc_ c= ? HH W HH BT | HHTH, H-#'r'r:}
=1 ° | z 3 - cl 2]
-~ B !
- - - | @ gac=g
l e O3 AS
k) e § 2,23 |
| | TSem:. P
- 4 b A ST = » = uL
R T ST ?A‘U(Snd / A 5-2
B el [ 6lo °
= i & Yroo
&0 > e S ==
&t ) { | 4 -8,
=i e | S 3 h(AuB): 000 ~4Y%00 = {1300
l/'\”?sﬁ s = fé ' n(AuB)= ni4)+n(n) —(ANR)
1300 = Yfo + ¢30 - X
d) ] 5 X = 240
@ ==y
“ 2.2,32 (@) Sl ) = acug
T D | 22320 Shoo (400 = peue
i S C
S e i

2233 ol 2234 are Shote,




Math 19 | Hemework 23 | owas

2.3-2 Pa)=eu, PR)=0:% 75,15 X:{H**T> T**H\( n(X)= §
PlAnz) =o.|

Y=\ i TT, HTHT, HTTH, THHT,

A /____,_\B THTH, TTHHEY  ney)e ¢

9 O () IP(xCny) = TP( J+rﬂ+,w#'m :

> 154‘14:4 4 L .L.

At faaE 1¢ 2

P(@n3e) U(A4€B))
R R e
235 PLA UAUAYZ %
YA uA-LUA-,) = P faast oue ¢7)
% - Gt
= 1-P0 W, six ")=1-—g~r?é/z.
Tt-e eveq"l‘s A;,A 43 are not

‘MuL‘Lum, exe wﬂvij So

Pla, vhuhy) F PUA)+ PUA,) +P(A)

2.2.10  PlAUR) = PiA)+P(B)~ PANE)

FA)=2=5  pg)=% =3
Plang) = P({6, 12,19, zw}) EE
W Pl4oB) = +s-£=£-é=%=
?'3__..'” A' L 41{14‘1A i
B Vit Tk '}'L-JD QQQLS

P(4)= 10, PR)=.20
P(AN &)= .65 = P(UwpR)

e

3

A A

.65

P(AUB) = PlA)+ PB) - P(4NR)
£.35= o +0.3 — ¥
K = 0,08

Plins) o ena) - 0050025 =[539]

©) P(xny<) = P((XCUY)L)
=1 - W(x‘ur)
[ Px)+ P () = P(x<nY) ]
=1~ -8+ %

= s %) 657 B A oy s vl
L ey =

2.3.16
A= %(f &) (zq) (3,3), (4 2), (Sl)}

iz § 0,2), Ce,4) (34), [4,3),@,_2),@!’}

AnBC
\
P(4nB<) + PLANG) = P(4)
A
e

- }'J/Zé\




